Math 1010 Bonus problem
Due November 7th/8th in class (same day as Homework #5, but please hand in separately)


Complete all parts of the following problem for a maximum of fifteen bonus points. (Yes, all the parts are related.)  Show all work on an attached page.  Record your answers here.

1) Suppose that the cost to produce ten items of a certain product is $2210 each day.  And the cost to produce 25 items of the same product is $3335 each day.  Assuming that the cost function is linear, find the equation of the cost for producing this item per day.


2) Suppose this same company is considering two pricing schemes for a product.  
[image: image1.wmf]x

x

p

-

+

=

200

1

, and 
[image: image2.wmf]x

p

1

.

0

150

2

-

=

.  If the company makes 50 items of this product, which pricing scheme makes them more money per item?  If they sell 100 items, which pricing scheme makes them more money per item?


3) Daily revenue is calculated as quantity times price.  If x is the number of items sold, R=xp.  Using this information, find the revenue function that goes with each pricing scheme (R1 goes with p1, and R2 goes with p2). 

4) Compare.  Find the maximum revenue achievable under each scheme and compare these.  (You should use your calculator’s maximum function for the R1 equation.)

5) Which pricing scheme will make them the most money in the long term?



6) Find the profit function for the revenue/pricing scheme preferred in the previous step.  Use the cost function you found in part 1.

7) Determine the range of items the company needs to sell to remain profitable.  (i.e. P(x)≥0)
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